Region N, N, Hr[GeV] Mrp [GeV]
-1 — =450 —
loose 2-3 <2  450-575 ~400
J 2-3 <2 575-1000 =300
2-3 <2 >1000 =200
—-1 — >575 —
ljmedium  2-3 <2 575-1000 ~600
2-3 <2 >1000 =200
—1 =0  >1000 —
—1 >1  >575 _
2.3 =0 575-1000 ~800
b 2.3 1-2  575-1000 ~600
) 18 2-3 0-1 1000-1500  >800
2-3 =2 1000-1500  >400
2.3 0-1  >1500 ~400
2.3 =2  >1500 =200
2.3 —  >1000 ~600
. 2.3 —  >1500 ~400
2) tight 16 —  >1000 ~800
46 —  >1500 ~600
4jmedium >4 — >575 ~400
. >4 — >1000 >600
4j tight >7 —  >1500 ~400
7j tight >7  — >575 ~400
>7 0-1  >1000 ~600
Zjvery tight >7 >2  >1000 ~400
>7 —  >1500 ~400
ob medium >2 >2  >575 ~200
2b tight >2 >2  >575 ~400
Obvery tight >2 >2  >1000 ~400
3b medium >2 >3 >200 =200
3b tight >2 >3  >575 =200
3bvery tight >2 >3  >1000 =200




